STANDARD MODEL - IL

LECTURE 1

 Group Theory elements SU(N) 8100PS -> Young Tableau
 Standand Table : Yang - Mills Cheanies, QCD EW, flavour, Mess Servention Higgs Mathemissin
 Exist intro to porterbation Geory. Terroman Aules : amplitudes, Ysees and decay within ce->ee

DBSM: Kuthing masses, selsad mechanisms

· More Kiggs bosons -> extended sodan

• Lastegants (g-2), $\mathcal{B}_{R}^{(4)}$, $\mathcal{R}_{D}^{(4)}$, $(g-2)_{C}$

· xpnsymmetry

For Group Theory

"Group Theony in a Votshell for Physicists"

A. Zeer

Princeton University Press. Princeton and Oxford

General properties of Lie Groups and lie Algebras

Definition 1

A group G is a set with a map GxG->G mown as group multiplication satisfying the following peoperties:

• Association by : $(g,h) \cdot l = g \cdot (h \cdot l), \forall g,h,l \in G,$ • Identify: $\exists_{eee} : e_{g} = g \forall_{gee}$ • Invase : $\forall g \in G \; \exists g' \in G \; : \; g' \cdot g = g \cdot g' = C$

In panticle physics we are interested in STOUP representations, which define a concrete realization of group transformations.

Eg: 4 -> 4'- UM 6 y -> y' = e'any U(1)

Definition 2

A group representation R is a map that associates to each group element a linear transformation acting on a particular vector space V (real or complex):

 $R: G \longrightarrow GL(V)$ General Linear Group; Transformations acting on V.

where $\operatorname{dim}(B) = \operatorname{dim}(V)$

Recuíble representation:

A is reducible if and only if there is a subspace UCV left invariant by group transformations, i.e.

B(8) UEU YUEV and YgEG.

It there is no UCV, the R is said to be IMMEDUCIBLE, on an imp. of G. Irreps. are very relevant in particle physics.

Definition 3

A Lie group is a continuous group, r.e., in which all elements gEG depende continuously on a centinuous set of parameters $g = g(a), \alpha = \{\alpha_a\}, \alpha = 1, \dots, N$

The identity element e is taken to be

 $e = \beta(\alpha)|_{\alpha=0}$

~=~~> Onizin of the space of parameters

that for any R such

 $|\mathcal{R}(\alpha)| = 1|_{\alpha = 0}$



 $\mathcal{R}(d\alpha) = 11 + \frac{\partial \mathcal{R}(\alpha)}{\partial \alpha_a}\Big|_{\alpha=0}$ da + Infinitesimal Change in a

= 11+ ix daa +...



element anbinanily close to identity

Included such that, for Unitary representations one has $R(\alpha)R(\alpha) = 11$

Group multiplication allows one to



 $B(a) = \lim_{K \to \infty} \left(1 + i \frac{\chi^{a} d_{a}}{\kappa} \right)^{k} = e^{i\chi^{a} d_{a}}$

where $d\alpha_a = \lim_{K \to \infty} \frac{\alpha_a}{K}$

Cla 61R

Exponential parametrization of group elements



 $B(a) B(a) = 11 \in \mathcal{S} \in \mathcal{A}_{a} = 11$



 $\implies \chi^{\alpha} = (\chi^{\alpha})^{\dagger} \implies GROUP GEVERATORS$ ARE HEAMETIAN OPERATORS

STRUCTURE CONSTANTS



 $XaX^{\alpha} \neq PaX^{\alpha}$

Using the exponential panametrization GACU P element

Continuity and Eifferentiability of Broup elements allows one to find Saz by expanding the above relation.

 $i S_{\alpha} \chi^{\alpha} = log \left[1 + e^{i \alpha_{\alpha} \chi^{\alpha}} e^{i E_{\alpha} \chi^{\beta}} - 1 \right] \equiv log (1+\kappa)$

For small K one has: $lcg(1+kr) = k - \frac{k^2}{2} + \cdots$ Thus, up to quadratic ander $N = e^{i\alpha_{\alpha}x^{\alpha}}e^{i\frac{\pi}{1}}$ $= (1 + i \alpha_{\alpha} \chi^{\alpha} - \frac{1}{2} (\alpha_{\alpha} \chi^{\alpha})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2} - \frac{1}{2} (\beta \chi^{2})^{2} + \cdots) (1 + i \beta \chi^{2}) (1 + i$ $= i\alpha_{a}\chi^{\alpha} + i\beta_{a}\chi^{a} - \alpha_{a}\chi^{q}\beta_{3}\chi^{2} - \frac{1}{2}(\alpha_{a}\chi^{q})^{2} - \frac{1}{2}(\beta_{b}\chi^{b})^{2} + \cdots$ And hence: $i S_{\alpha} X^{\alpha} = i \alpha_{a} \chi^{\alpha} + i P_{\delta} \chi^{\delta} - \alpha_{a} \chi^{\alpha} P_{\delta} \chi^{\delta} - \frac{1}{2} (\alpha_{a} \chi^{\alpha})^{2} - \frac{1}{2} (P_{\delta} \chi^{\delta})^{2} - \frac{1}{2} \left[(1 + i \alpha_{a} \chi^{\alpha}) (1 + i P_{\delta} \chi^{\delta}) - 1 \right]^{2}$ $= i \alpha_a \chi^a + i \mathcal{B} \chi^b - \alpha_a \chi^a \mathcal{B} \chi^b - \frac{1}{2} (\alpha_a \chi^a)^2 - \frac{1}{2} (\mathcal{B} \chi^b)^2$ - 2 1 + i a a x a + i & x - 1 + ...) a

 $= i \alpha_a \chi^a + i \beta_s \chi^b - \alpha_a \chi^a \beta_s \chi^2 - \frac{1}{2} (\alpha_a \chi^a)^2 - \frac{1}{2} (\beta_s \chi^b)^c$ $+\frac{1}{a}\left(\alpha_{a}\chi^{a}+\mathcal{B}\chi^{b}\right)^{a}+\cdots$ $\frac{1}{2}(q_a \chi^a)^2 + \frac{1}{2}(\beta \chi^b)^2 + \frac{1}{2}q_a \chi^{\alpha} \beta \chi^{\beta} + \frac{1}{2}\beta \chi^{\beta} q_a \chi^{\alpha}$ $= i(a_a + P_a)\chi^a - \frac{1}{2}a_a\chi^a g\chi^b + \frac{1}{2}g\chi^a \chi^a \chi^a$ $= i \left(da + P_a \right) \chi^a - \frac{1}{2} \left[da \chi^a, P_b \chi^b \right] + \dots$ generators cont ccmute in general Then: $i S_a \chi^a - i (d_a + R_a) \chi^a = -\frac{1}{2} \left[q_a \chi^a, B \chi^b \right] \iff$ $\left[\alpha_{a}\chi^{\alpha}, \mathcal{B}\chi^{\beta}\right] = -\alpha_{c}\left(S_{c} - \alpha_{c} - \mathcal{P}_{c}\right)\chi^{c} \equiv i\chi^{c}\chi^{c}$ $= \sum \left[\mathcal{A}_a \chi^a, \mathcal{B}_i \chi^5 \right] = i \mathcal{X}_c \chi^c$ which must hold for any charge of

La, Band Sc panamatens

we then note that, choosing the constants

 f^{abc} $Aa P_b = \delta_c$

 $\mathcal{A}_{a} \mathcal{P}_{b} \left[\chi^{\alpha}_{,} \chi^{\beta} \right] = i \mathcal{X}_{c} \chi^{c}$ E

 $\mathcal{G}_{a}\mathcal{G}_{b}[x^{\alpha}, x^{\beta}] = i f^{abc} \mathcal{G}_{a}\mathcal{G}_{b}\chi^{c}$

 $= \sum \left[\chi^{a}, \chi^{b} \right] = i f^{abc} \chi^{c}$

The antisymmetry populy of the Commutator, r.e., [A, B] = - [B, A]





Antisymmetric in the first ter indices

The fabc one known as the group structure constants and define the Lie Algebra 26) of the group G destibled by the abare commutation [xª,xb]=ifaccyc $\left[\overline{\nabla_{i}}, \overline{\nabla_{j}} \right] = \overline{Z} i \mathcal{E}_{ij} \overline{\nabla_{K}} \nabla_{K}$ The structure constants are an intrinsic property of the Lie Algobra and are sdely betomined by the Group multiplication and by Continuity.

Rapposition 1

Ecn unitary group representations the structure constants are neal.

Demonstration

We have seen above that, for Unitary group representations the gennators are hermitian, i.e. $(\chi^{\alpha})^T = \chi^{\alpha}$

Then, on one hand we have:

 $\begin{bmatrix} \chi^{\alpha}, \chi^{\beta} \end{bmatrix} = (i t^{abc} \chi^{c})^{t} = -i (t^{abc})^{*} (\chi^{c})^{t}$ = - e(f abc) * x c

on the other hand we know that

 $\left[\chi^{a}\chi^{5}\chi^{5}\right]^{T} = \left(\chi^{a}\chi^{5} - \chi^{5}\chi^{a}\right)^{T}$ $= \left(\chi^{\alpha}\chi^{\beta}\right)^{\dagger} - \left(\chi^{\beta}\chi^{\alpha}\right)^{\top}$ $= (\chi^{5})^{\dagger} (\chi^{a})^{\dagger} - (\chi^{a})^{\dagger} (\chi^{5})^{T}$ $= \chi^5 \chi^{ce} - \chi^2 \chi^5$ $= \left[\chi^{5} \chi^{\alpha} \right] = i f^{5\alpha} \chi^{c}$ $= -if^{abc}\chi^{c}$



 $(f^{abc})^{\dagger} = f^{abc} \longrightarrow f^{abc} \in \mathbb{R}$

Exprese: prove the Jacobi identity.

 $\left[\chi^{\alpha}, \left[\chi^{s}, \chi^{c}\right]\right] + \left[\chi^{s}, \left[\chi^{c}, \chi^{\alpha}\right]\right] + \left[\chi^{c}, \left[\chi^{\alpha}, \chi^{s}\right]\right] = 0$

Adjoint Representation

The structure constants can be used to define the adjoint rep $(S^{i})^{sr} = i E^{isr}$ US

 $(T^{\alpha})^{bc} \equiv i f^{\alpha bc}$

which are NXN matrices

Proposition 2

The Ta matnices satisfy the

Commutation relation of the

Corresponding Lie Algebra, i.e. $[T^a, T^b] = i f^{abc} T^c$

Demonstration

let's expand the commutator:

 $\left[T^{\alpha}, T^{\beta}\right]^{cd} = \left(T^{\alpha}T^{\beta} - T^{\beta}T^{\alpha}\right)^{cd}$

 $= \left(T^{a}\right)^{ce} \left(T^{b}\right)^{ee} - \left(T^{b}\right)^{ce} \left(T^{a}\right)^{ee}$



=-facefbed + focefacd

Voce note that, for the generations

 $\left[\chi^{a}, \left[\chi^{b}, \chi^{c}\right]\right] = \left[\chi^{a}, if^{bcd}\chi^{d}\right]$ $= if^{bcc} \left[\chi^a, \chi^d \right]$ = - f⁵⁰ f all , 0

Using the Jacobi identity: $\left[\chi^{a}, \left[\chi^{s}, \chi^{e}\right]\right] + \left[\chi^{s}, \left[\chi^{c}, \chi^{a}\right]\right] + \left[\chi^{c}, \left[\chi^{a}, \chi^{s}\right]\right] = 0$ $-\left(f^{bcb}f^{ade} + f^{cab}f^{bbe} + f^{abd}f^{cbe}\right)\chi^{e} = 0$ $=> f^{bc} f^{ade} + f^{ca} f^{bde} + f^{abd} f^{cde} = 0$ $d \leftarrow e d \leftarrow e d \leftarrow e$ $=) f^{bce} f^{aed} + f^{ae} f^{bed} + f^{abe} f^{ced} = 0$



Then: $[T^{\alpha}, T^{\beta}]^{cd} = -f^{\alpha be} f^{ced}_{j}$ $= f^{\alpha be} f^{ecd}_{j}$

= i fabe (te)cd $= \sum \left[T^{\alpha}, T^{\beta} \right] = i f^{\alpha \beta c} T^{c}$

Definition 4

A sub-algebra ACGCS is a linear space définée as

YXIYER [X,Y]ER

· A sub-algebra is abelian if $\forall x, y \in \mathcal{R} [X, Y] = 0$ (the same applies to the full g (G))

· A sub-algebra is an ideal if?

HXER YZEZG) $[X,Z] \in \mathcal{H}$



-> an ideal can be chought as a subgroup of G.

-> hopen group: A group is denoted improprier it its subgroups are just itself and the identity. All other groups are called proper

Definition 5

A Lie Algebra is simple if it does not contain any propor ideals and semi-simple if it does not contain abelian ideals exept {03.

Theorem 1:

A Lie algebra is semi-simple if and only it

 $\mathcal{J} = \mathcal{J}_{\mathcal{J}} \oplus \cdots \oplus \mathcal{J}_{\mathcal{J}}$



hoof :

This is not a full proof but instead a generic example to illustrate the general propentics:

Consider the product group G

$G = G_1$	χG_{z}
-----------	--------------



are simple, i.e., they do not contain any proper ideal.



 $g = \begin{pmatrix} g_1 & 0 \\ 0 & g_2 \end{pmatrix} \in G$ This is diagonal due to $EG_2 \quad \text{the lineon independence of } G_1$ $anc G_2 \quad \text{the lineon independence of } G_1$ such that the elements of the

Lie algebra read as:



Consider now the sub-algebra $\mathcal{I}_{1}(S_{1})$ with elements:

$$T' = \begin{pmatrix} T_{1}' & O \\ O & O \end{pmatrix} \in \mathcal{G}_{1}(G_{1})$$

The commutation of a generic element of $\mathcal{G}(s)$ with a generic element of $\mathcal{G}_{1}(s_{1})$ is: $[T,T'] = \begin{pmatrix} T, 0 \\ 0 T_{a} \end{pmatrix} \begin{pmatrix} T_{1}' 0 \\ 0 \end{pmatrix} - \begin{pmatrix} T_{1}' 0 \\ 0 \end{pmatrix} \begin{pmatrix} T_{1} & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} T_{1} & 0 \\ 0 & 0 \end{pmatrix}$

$$= \begin{pmatrix} T_{i}T_{i}^{1} & 0 \\ 0 & 0 \end{pmatrix} - \begin{pmatrix} T_{i}^{1}T_{i} & 0 \\ 0 & 0 \end{pmatrix}$$

$$= \begin{pmatrix} T_{i}^{10} & 0 \\ 0 & 0 \end{pmatrix}^{1} \qquad \text{ rhys the rate of } R$$
with $T_{i}^{\prime\prime} = \begin{bmatrix} T_{i}, T_{i}^{\prime} \end{bmatrix} \in \mathcal{G}_{i}(S_{1}) \neq \mathcal{G}(S)$

A sub-algebra is an ideal R¹

$$V_{X,C,R} = \sum_{i=1}^{n} \frac{1}{(X_{i}^{-1})^{2}} \in \mathcal{G}_{i}(S_{1}) \neq \mathcal{G}(S)$$

A sub-algebra is an ideal R¹

$$V_{X,C,R} = \sum_{i=1}^{n} \frac{1}{(X_{i}^{-1})^{2}} \in \mathcal{G}_{i}(S_{1}) \neq \mathcal{G}(S)$$

A sub-algebra is an ideal R¹

$$V_{X,C,R} = \sum_{i=1}^{n} \frac{1}{(X_{i}^{-1})^{2}} \in \mathcal{G}_{i}(S_{1}) \neq \mathcal{G}(S)$$

A sub-algebra is an ideal R¹

$$V_{X,C,R} = \sum_{i=1}^{n} \frac{1}{(X_{i}^{-1})^{2}} \in \mathcal{G}_{i}(S_{1}) = \frac{1}{(X_{i}^{-1})^{2}} = \frac{1}{(X_{i}^{-1}$$

In conclusion, pravided that given and $\mathcal{L}(\mathcal{S}_{\mathcal{S}})$ not abelian, then are $\mathcal{J}(G) = \mathcal{J}_{1}(G_{1}) \oplus \mathcal{J}_{2}(G_{2})$ is semi-simple!

Definition 6

The Killing form on Killing metric associated with a Lie algebra & (G) is a symmetric bilinean map:

17: 2(G) × 2(G) -> IA

defined by :

 $P(X,Y) = \operatorname{Tre}\left[\operatorname{ad}(X) \cdot \operatorname{ad}(Y)\right]$



Considering a basis of generators {Ta} for the Lie algebra one obtains Che Killing metnic as:

 $\gamma^{\alpha\beta} = \Gamma(T^{\alpha}, T^{\beta}) = \overline{b_{\alpha}}(T^{\alpha}T^{\beta}) = (T^{\alpha})^{c\beta}(T^{\beta})^{cc}$

= if acd if bdC = - facd bdc

Theorem 2

If gills) is a compact lie defend, i.e., if the underlying Lie group is compact, the killing metric is positive semi-definite

[(x,x) 7,0, tx e 200)

and $\Gamma(X,X) > 0$, $\forall X \in \mathcal{G}(\mathcal{O})$ for simple defenses The proof is out of the scope of this course.

It follows from Thomas that if the Killing metric is positive definite then, one can choose an onthononmal basis for the Lie algebra such that

 $\Gamma(T^a,T^b) = S^{ab}$

which means that the killing metric Can be diagonalized and an apopulate nonmalization for the generators can be chosen!

This leads to the following proposition!

Inoposition 3

The structure constants are

completely antisymmetric

Demonstration $\Gamma([T^{\alpha},T^{\beta}],T^{c}) \neq \Gamma([T^{\beta},[T^{\alpha},T^{c}]) =$ $\begin{aligned} & T_{2}\left(T^{a}T^{b}T^{c}\right) - \overline{J_{2}}\left(T^{b}T^{a}T^{c}\right) + \overline{J_{1}}\left(T^{b}T^{a}T^{c}\right) - \overline{J_{0}}\left(\tau^{b}t^{e}\tau^{b}\right) \\ & \text{Using Cyclic property cf the trace} \\ & = \\ & \overline{J_{1}\left(T^{a}T^{b}T^{c}\right) - T\left(T^{a}T^{e}T^{b}\right) + \overline{J_{2}}\left(T^{a}t^{c}T^{b}\right) - \overline{J_{0}}\left(T^{e}\tau^{c}T^{b}\right) \\ & = \\ & \overline{J_{1}\left(T^{a}T^{b}T^{c}\right) - T\left(T^{a}T^{e}T^{b}\right) + \overline{J_{2}}\left(T^{a}t^{c}T^{b}\right) - \overline{J_{0}}\left(T^{e}\tau^{c}T^{b}\right) \\ & = \\ \end{aligned}$ Then : $\Gamma(if^{abc}T^{c},T^{c}) + \Gamma(T^{b},if^{acc}T^{c}) =$

 $i f^{abd} \overline{L_{r}(T^{d}T^{c})} + i f^{acd} \overline{L_{r}(T^{b}T^{d})} = g^{bd}$

if abd Sec tit acd Sbd =

 $if^{abc} + if^{acb} = 0 \Longrightarrow$

 $f^{abc} = -f^{acb}$

which shales antisymmetry with

respect to the last fire interes.

Since, by befinition, the structure



Theorem 3

Ear a semi-simple Lie algebra the quadratic Casimin Operator $C = \gamma^{i} \tilde{\nu} T_i T_s , \gamma^{i} \tilde{\nu} = \gamma_{is}^{-1}$ commutes with all generators: $[C_i, T_{ir}] = 0$, $\forall T_k \in \mathcal{G}(G)$

Demonstration

 $\begin{bmatrix} C, T_{e} \end{bmatrix} = \begin{bmatrix} \gamma^{i} S^{i} T_{i} T_{5}, T_{e} \end{bmatrix}$ $= \gamma^{i} \gamma^{i} T_{i} T_{i}, T_{e}$ $= \partial^{s} \left(\overline{L_{i}} \left[\overline{L_{j}}, \overline{L_{e}} \right] + \left[\overline{L_{i}}, \overline{L_{e}} \right] \overline{L_{j}} \right)$ = is (Ti frem Tim + triem Tim Tis)

= i8's film Ti Tm + i8's film Tm Ij = i8^{is} film Ti Tim + i 8^{si} film Tim Ti ~ yis -s symmetric = i fiem gio (T; Tm + Tm Ti) antisymmetric Symmetric under Swom Under ser interchange interchange 6 The example of SU(2) The group of 2x2 unitary matrices with unit determinant.